

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation

2012

OMB No 1545 0052

Department of the Treasury Internal Revenue Service

Note. The foundation may be able to use a copy of this return to satisfy state reporting requirements

For cal	endar year 2012, or tax year beginning	, 2012,	and ending		,	
	THY COLLINS BROWN			Α	Employer identification num 95-4031664	nber
CHAR	ITABLE FOUNDATION CENTURY PARK EAST #1150			В	Telephone number (see the 800-509-2251	nstructions)
LOS	ANGELES, CA 90067			С	If exemption application is	pending, check here
G Ch	eck all that apply Initial return	Initial return of a form	ner public charity	D	1 Foreign organizations, chec	k here
	Final return Address change	Amended return Name change			2 Foreign organizations meet	
H C		(c)(3) exempt private for		1_	here and attach computation	
		ounting method X Ca	rivate foundation ash Accrual	E	If private foundation status under section 507(b)(1)(A)	
() > ≥		Other (specify) column (d) must be on	cāshī bāsis) = = =	F	If the foundation is in a 60- under section 507(b)(1)(B)	
Part	050,500: 10 = 10,000	(a) Revenue and	(b) Net investmen	n+		(d) Disbursements
1	Expenses (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a) (see instructions))	expenses per books	income	i it	(c) Adjusted net income	for charitable purposes (cash basis only)
	Contributions, gifts, grants, etc, received (att sch)					
	2 Ck X if the foundn is not req to att Sch B 3 Interest on savings and temporary					
	cash investments					
	4 Dividends and interest from securities 5 a Gross rents	16,796.	16,79	96.	16,796.	
	b Net rental income or (loss)					
R E	6 a Net gain/(loss) from sale of assets not on line 10 b Gross sales price for all 712, 410.	78,992.				
V E	7 assets on line 6a Capital gain net income (from Part IV, line 2)		78,99	92.		
N U	8 Net short-term capital gain 9 Income modifications				1,940.	
Ě	10 a Gross sales less returns and					
	allowances b Less Cost of					
	goods sold c Gross profit/(loss) (att sch)					
	11 Other income (attach schedule)					
	SEE STATEMENT 1 12 Total. Add lines 1 through 11	215. 96,003.	95,78	00	18,736.	
	13 Compensation of officers, directors, trustees, etc	96,003.	95,10	00.	10,/30.	
	14 Other employee salaries and wages					
	15 Pension plans, employee benefits16a Legal fees (attach schedule)					
A D	b Accounting fees (attach sch) SEE ST 2	1,395.			1,395.	
M I N	c Other prof fees (attach sch) SEE ST 3	19,671.				
PS	17 Interest	1 045	RECI	<u> </u>	701	
O I STRAT	18 Taxes (attach schedule/See instrs). SEE STM 4 19 Depreciation (attach	1,045.	1	_	\O1,045.	
- 1 í	sch) and depletion		1/ 2/ 1/1/	<u> 1</u> :	2013 8	
N V G E	20 Occupancy 21 Travel, conferences, and meetings		1361 MAI			
A E N X D P	22 Printing and publications		100	ZDĺ	N. UI	
D P	23 Other expenses (attach schedule)					
S E	Total operating and administrative expenses. Add lines 13 through 23	22 111			22,111.	
S	25 Contributions, gifts, grants paid STMT 5	22,111. 56,500.			22,111.	56,500.
	26 Total expenses and disbursements. Add lines 24 and 25	78,611.		0.	22,111.	56,500.
	27 Subtract line 26 from line 12:				·	
	a Excess of revenue over expenses and disbursements	17,392.				
	b Net investment income (if negative, enter -0)	-	95,7	88.		
BAA	C Adjusted net income (if negative, enter -0-) For Paperwork Reduction Act Notice, see ins	tructions.		TEE	0. A0504L 12/23/12	Form 990-PF (2012)

Page 2

D.	11 3	Attached schedules and amounts in the description	Beginning of year	End o	f year
Part	11 1	Balance Sheets column should be for end-of-year amounts only (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash — non-interest-bearing			
	2	Savings and temporary cash investments	14,324.	38,901.	38,901.
	3	Accounts receivable			
		Less allowance for doubtful accounts ▶			
	4	Pledges receivable			
		Less allowance for doubtful accounts			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other disqualified persons (attach schedule) (see instructions)			
	7	Other notes and loans receivable (attach sch)		· · · · · · · · · · · · · · · · · · ·	
Ą		Less allowance for doubtful accounts			
Š	8	Inventories for sale or use			
A S E T	9	Prepaid expenses and deferred charges	800.	1,200.	1,200.
Ś		a Investments – U.S. and state government obligations (attach schedule)			
	ı	h Investments — corporate stock (attach schedule) STATEMENT 6	584,961.	577,376.	650,867.
		c Investments — corporate bonds (attach schedule)			
	11	Investments — land, buildings, and equipment basis. ▶			
		Less accumulated depreciation (attach schedule)			
	12	Investments – mortgage loans.			
	13	Investments - other (attach schedule)			
	14	Land, buildings, and equipment basis ▶			
		Less: accumulated depreciation (attach schedule)			
		Other assets (describe)			
	16	Total assets (to be completed by all filers – see the instructions Also, see page 1, item I)	600,085.	617,477.	690,968.
T	17	Accounts payable and accrued expenses	000,000.	<u> </u>	
Ĭ	18	Grants payable			1
A B	19	Deferred revenue			1
ŀ	20	Loans from officers, directors, trustees, & other disqualified persons			
Ī	21	Mortgages and other notes payable (attach schedule)			
Ţ	22	Other liabilities (describe►)]
Ė		Total Cabilities (add been 17 Abourb 22)		0]
<u>s</u>	23	Total liabilities (add lines 17 through 22) Foundations that follow SFAS 117, check here	0.	0.	-
		and complete lines 24 through 26 and lines 30 and 31.			
N F	24	Unrestricted			4
TN	25	Temporarily restricted			4
ΔD	26	Permanently restricted			-
A B S A L A		Foundations that do not follow SFAS 117, check here and complete lines 27 through 31.			
E L T A	27		600,085.	617,477.	1
SN	28	Paid-in or capital surplus, or land, building, and equipment fund			
ΟE	29	, , , , , , , , , , , , , , , , , , , ,			_
RS	30	Total net assets or fund balances (see instructions)	600,085.	617,477.	4
	31	Total liabilities and net assets/fund balances (see instructions)	600,085.	617,477.	
Par	ŧπ	Analysis of Changes in Net Assets or Fund Balanc			
1	Tota	al net assets or fund balances at beginning of year — Part II, colu	umn (a), line 30 (must a	gree with	600 005
_		-of-year figure reported on prior year's return)		1 2	600,085.
2		er amount from Part I, line 27a		2	17,392.
3		r increases not included in line 2 (itemize).		3	617 477
4		lines 1, 2, and 3		5	617,477.
5		eases not included in line 2 (itemize). All net assets or fund balances at end of year (line 4 minus line 5).) — Part II, column (b)		617,477.
6	1012	arrier assets or runu pararices at enu or year (inte 4 millus line s	, raitii, coluiilii (b), l	50	<u> </u>

	(a) List and describe 2-story brick warehouse	the kind(s) of property sold (e.g., ree, or common stock, 200 shares ML	eal estate, C Company)	(b) How acqu P — Purcha D — Donati	ase	(C) Date acquired (month, day, year)	(d) Date sold (month, day, year)
1a SE	E ATTACHED - MER	RILL LYNCH SHORT TERM		P		VARIOUS	VARIOUS
b SE	E ATTACHED - MER	RILL LYNCH SHORT TERM		P		VARIOUS	VARIOUS
С					_		
d							
е				<u> </u>			
(e) Gross sales price	(f) Depreciation allowed (or allowable)	(g) Cost or other ba plus expense of sa	nsis nle		(h) Gain or (e) plus (f) m	
а	262,243.		26	50,303.			1,940.
b	450,167.		37	73,115.			77,052.
С	<u> </u>						
d							
е							
Co	mplete only for assets show	ing gain in column (h) and owned by	y the foundation on 12/31/6	59		(I) Gains (Col	umn (h)
(i) Fair Market Value as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Excess of column over column (j), if			ain minús column (l an -0-) o r Losses (fi	
а							1,940.
b							77,052.
С							
d							
e							
2 Ca	pital gain net income or (net		enter in Part I, line 7 ter -0- in Part I, line 7	_	2		78,992.
		loss) as defined in sections 1222(5)					
	jain, aiso enter in Part I, ilne Part I, line 8	e 8, column (c) (see instructions) If	(loss), enter -u-	_	3		1,940.
Part V	·	Section 4940(e) for Reduce	d Tax on Net Investn	nent Incor	me		
If 'Yes,' t	the foundation does not qual	tion 4942 tax on the distributable ar ify under section 4940(e) Do not con n each column for each year, see the	omplete this part	•	ies	Yes	No No
				ing any entir		(d)	
Cal	(a) Base period years endar year (or tax year beginning in)	Adjusted qualifying distributions	(c) Net value of noncharitable-use as	ssets	(colu	Distribution	n ratio by column (c))
	2011					-	
	2010						
	2009						
	2008						
	2007						
			• • • • • • • • • • • • • • • • • • • •				
2 To	tal of line 1, column (d)				2		
		ne 5-year base period – divide the to n has been in existence if less than		ne	3		
	•	stable-use assets for 2012 from Part	•		4		
		nable-use assets for 2012 from 1 an	A, ille 3				
5 Mւ	iltiply line 4 by line 3			}	5		
6 En	ter 1% of net investment inc	come (1% of Part I, line 27b)		}	6		
7 Ad	d lines 5 and 6			}	7		
8 En	ter qualifying distributions fr	om Part XII, line 4			8		
	ine 8 is equal to or greater t rt VI instructions	han line 7, check the box in Part VI	, line 1b, and complete tha	t part using	a 19	6 tax rate See	the

Form	990-PF (2012) DOROTHY COLLINS BROWN	95	<u>-4</u> 03166 <u>4</u>		Р	age 4
Part	VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 – s	ee instruction:	5)		
1 a	Exempt operating foundations described in section 4940(d)(2), check here and enter 'N/A' on line 1.	7				
	Date of ruling or determination letter. (attach copy of letter if necessary – see insti	rs)				
b	Domestic foundations that meet the section 4940(e) requirements in Part V,	⊢	1		1,9	916.
	check here ► and enter 1% of Part I, line 27b			_		
С	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, column ((b)	}]			
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable					
	foundations only Others enter -0-).		2			0.
_	Add lines 1 and 2		3		1,9	<u> 16.</u>
	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only Oth	ers enter -0-)	4			0.
	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-		5		1,5	<u> 16.</u>
	Credits/Payments	1 000	.			
	2012 estimated tax pmts and 2011 overpayment credited to 2012 6 a	1,200	'			
	Exempt foreign organizations — tax withheld at source 6 b Tax paid with application for extension of time to file (Form 8868) 6 c		4			
			⊣			
	Backup withholding erroneously withheld Total credits and payments Add lines 6a through 6d		- ₇		1 1	200
		ad	8		1,2	200.
		eu	► 9			716.
	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed Overpayment If line 7 is more than the total of lines 5 and 8, enter the amount overpaid		► 10			710.
		funded	► 11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			
	VII-A Statements Regarding Activities	- Idiliaca	1 1			
				T	Yes	No
1 a	During the tax year, did the foundation attempt to influence any national, state, or local legisl participate or intervene in any political campaign?	ation or did it		1 a		X
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purpose (see the instructions for definition)?	s		1 b		Х
	If the answer is 'Yes' to 1a or 1b, attach a detailed description of the activities and copies of any material	als published				
	or distributed by the foundation in connection with the activities					,,
	Did the foundation file Form 1120-POL for this year? Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the y	/ear		1 c		X
<u> </u>	(1) On the foundation \Rightarrow \$ 0. (2) On foundation managers	► \$	0.			
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax is	mposed on				
_	foundation managers \$ 0.					
2	Has the foundation engaged in any activities that have not previously been reported to the IR	S7		2		X
	If 'Yes,' attach a detailed description of the activities					
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrumer	nt, articles				١,,
4.0	of incorporation, or bylaws, or other similar instruments? If 'Yes,' attach a conformed copy of Did the foundation have unrelated business gross income of \$1,000 or more during the year?			3 4 a		X
	If 'Yes,' has it filed a tax return on Form 990-T for this year?			4 b	M	/A
	Was there a liquidation, termination, dissolution, or substantial contraction during the year?			5	1/4	X
,	If 'Yes,' attach the statement required by General Instruction T		'	<u> </u>		<u> </u>
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either	er		,		
	By language in the governing instrument, or	-				
		one that conflict				
	By state legislation that effectively amends the governing instrument so that no mandatory direction with the state law remain in the governing instrument?	ins that confinct		6	Х	1
7	Did the foundation have at least \$5,000 in assets at any time during the year? If 'Yes,' complete Part II, column (c), and	Part XV		7	Х	
8 a	Enter the states to which the foundation reports or with which it is registered (see instructions	s) •				ļ
	N/A					
b	If the answer is 'Yes' to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate) of each state as required by <i>General Instruction G</i> ? <i>If 'No,' attach explanation</i>		· 	8 b	Х	
9	Is the foundation claiming status as a private operating foundation within the meaning of sec for calendar year 2012 or the taxable year beginning in 2012 (see instructions for Part XIV)?	tion 4942(j)(3)	or 4942(j)(5) lete Part XIV	9		х
	Did any persons become substantial contributors during the tax year? If 'Yes,' attach a schedule listi					
BAA	and addresses		Fo	10 rm 990)-PF /	X 2012)
			, ,		(4	

BAA

the tax year beginning in 2012?

Form 990-PF (2012)

b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of

Form 990-PF (2012) DOROTHY COLLINS BE	OWN		95-403	31664	Page 6
Part VII-B Statements Regarding Activiti		4720 May Be Req	uired (continued)		
5 a During the year did the foundation pay or incu	•	4045433		.	
(1) Carry on propaganda, or otherwise attemp	t to influence legislation	n (section 4945(e))/	∐ Yes X	No	
(2) Influence the outcome of any specific publion, directly or indirectly, any voter registra	tion drive?			No	
(3) Provide a grant to an individual for travel,	study, or other similar p	purposes /	∐ Yes X	No	
(4) Provide a grant to an organization other the in section 509(a)(1), (2), or (3), or section	nan a charitable, etc, or 4940(d)(2)? (see instru	ganization described ictions)	Yes X	No	
(5) Provide for any purpose other than religion educational purposes, or for the prevention	us, charitable, scientific n of cruelty to children i	, literary, or or animals?	Yes X	No	
b If any answer is 'Yes' to 5a(1)-(5), did any of the described in Regulations section 53 4945 or in (see instructions)?	the transactions fail to d a current notice regard	qualify under the exceptions disaster assistance	tions	5 b	N/A
Organizations relying on a current notice rega	rding disaster assistanc	e check here	▶ [_		
c If the answer is 'Yes' to question 5a(4), does to tax because it maintained expenditure response	sibility for the grant?		N/A Yes	No	
If 'Yes,' attach the statement required by Regu	ulations section 53 4945	5-5(d)			
6 a Did the foundation, during the year, receive ar on a personal benefit contract?			∐Yes X	No	
b Did the foundation, during the year, pay premi	ums, directly or indirec	tly, on a personal bene	fit contract?	6 Ь	X
If 'Yes' to 6b, file Form 8870 7 a At any time during the tax year, was the found	lation a party to a prob	bited tay chelter transs	ection? Yes X	No	
b If 'Yes,' did the foundation receive any procee				N/A 76	
Part VIII Information About Officers, D				*/ **	
and Contractors	,		, ,		,
1 List all officers, directors, trustees, foundation	n managers and their o	compensation (see inst	ructions).		
(a) Name and address	(b) Title, and average hours per week devoted to position	(c) Compensation (If not paid, enter -0-)	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense other al	e account, lowances
JACK SURBER	TRUSTEE	0.	0.		0
350 S. GRAND AVENUE, 27TH FLR	0				
LOS ANGELES, CA 90071					
RODNEY HAGENBUCH	TRUSTEE	0.	0.		0
PACIFIC PALISADES, CA 90272	0				
JOHN QUINN	TRUSTEE	0.	0.		0
3033 EDGEWICK ROAD	0				
GLENDALE, CA 91206				<u> </u>	
2 Compensation of five highest-paid employees (o	they then these included	on line 1 coe instructio	ns) If none onter 'NONE		
2 Compensation of five highest-paid employees (or (a) Name and address of each employee	(b) Title, and average	(c) Compensation	(d)Contributions to	(e) Expense	e account
paid more than \$50,000	hours per week devoted to position	(c) Compensation	employee benefit plans and deferred compensation	other al	lowances
NONE			,		
				 	
				<u> </u>	
Total number of other employees paid over \$50,000	<u> </u>		<u> </u>	Form 000	BE /2010

Total. Add lines 1 through 3

BAA

Page 7

Part VIII Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors (continued) 3 Five highest-paid independent contractors for professional services (see instructions). If none, enter 'NONE. (a) Name and address of each person paid more than \$50,000 (b) Type of service (c) Compensation NONE Total number of others receiving over \$50,000 for professional services 0 Part IX-A Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of Expenses organizations and other beneficiaries served, conferences convened, research papers produced, etc NOT APPLICABLE - THE FOUNDATION DOES NOT ADMINISTER OR MAINTAIN ANY FORMAL PROGRAMS. THE FOUNDATION ISSUES CASH DIRECTLY TO CHARITABLE INSTITUTIONS Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2 Amount N/A All other program-related investments See instructions.

Form **990-PF** (2012)

0.

6

7

Page 8

2,132.

2,132.

Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations, see instructions.) 1 Fair market value of assets not used (or held for use) directly in carrying out charitable, etc. purposes a Average monthly fair market value of securities. 1 a 82,183. 16 **b** Average of monthly cash balances c Fair market value of all other assets (see instructions) 1 c 1 d 82,183. d Total (add lines 1a, b, and c) e Reduction claimed for blockage or other factors reported on lines 1a and 1c (attach detailed explanation) 0. 1 e 2 0. Acquisition indebtedness applicable to line 1 assets Subtract line 2 from line 1d 3 82,183. Cash deemed held for charitable activities Enter 1-1/2% of line 3 (for greater amount, see instructions) 4 1,233. Net value of noncharitable-use assets. Subtract line 4 from line 3 Enter here and on Part V, line 4 5 80,950. Minimum investment return. Enter 5% of line 5 6 4,048. Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and certain foreign organizations check here and do not complete this part.) Minimum investment return from Part X, line 6 1 4.048. 2 a Tax on investment income for 2012 from Part VI, line 5 2 a 1,916. b Income tax for 2012 (This does not include the tax from Part VI.) 2 b 2 c c Add lines 2a and 2b 1,916. 3 Distributable amount before adjustments Subtract line 2c from line 1 3 2,132. 4 Recoveries of amounts treated as qualifying distributions

Part XII Qualifying Distributions (see instructions)

Deduction from distributable amount (see instructions)

Add lines 3 and 4

1 Amounts paid (including administrative expenses) to accomplish charitable, etc, purposes a Expenses, contributions, gifts, etc — total from Part I, column (d), line 26	1 a	56,500.
b Program-related investments — total from Part IX-B	1 b	
2 Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3 Amounts set aside for specific charitable projects that satisfy the a Suitability test (prior IRS approval required)	3 a	
b Cash distribution test (attach the required schedule)	3 b	
4 Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4	4	56,500.
Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income Enter 1% of Part I, line 27b (see instructions)	5	
6 Adjusted qualifying distributions. Subtract line 5 from line 4	6	56,500.

Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section 4940(e) reduction of tax in those years

Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII, line 1

Form **990-PF** (2012)

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2011	(c) 2011	(d) 2012
Distributable amount for 2012 from Part XI, line 7			, , , , , , , ,	2,132.
2 Undistributed income, if any, as of the end of 2012.	·			2,132.
a Enter amount for 2011 only			0.	
b Total for prior years 20, 20, 20		0.		
3 Excess distributions carryover, if any, to 2012	п			
a From 2007 60,848.				
b From 2008 86,500.				
c From 2009 7, 226.				
d From 2010 23, 998. e From 2011 24, 310.				
f Total of lines 3a through e	202,882.			
4 Qualifying distributions for 2012 from Part	202,002.			
XII, line 4 ► \$ 56,500.				
a Applied to 2011, but not more than line 2a			0.	
b Applied to undistributed income of prior years (Election required – see instructions)		0.		
c Treated as distributions out of corpus		0.		
(Election required — see instructions)	0.			
d Applied to 2012 distributable amount				2,132.
e Remaining amount distributed out of corpus	54,368.			
5 Excess distributions carryover applied to 2012 (If an amount appears in column (d), the	0.			0.
same amount must be shown in column (a))				
6 Enter the net total of each column as indicated below:				
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	257,250.			
b Prior years' undistributed income Subtract	201,2001			
line 4b from line 2b		0.		
c Enter the amount of prior years' undistributed income for which a notice of deficiency				
has been issued, or on which the section		_		
4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b Taxable amount — see instructions		0.		
		0.		
e Undistributed income for 2011. Subtract line 4a from line 2a. Taxable amount — see instructions			0.	
f Undistributed income for 2012 Subtract lines 4d and 5 from line 1. This amount must be				
distributed in 2013				0.
7 Amounts treated as distributions out of corpus to satisfy requirements imposed				
by section 170(b)(1)(F) or 4942(g)(3)	_			
(see instructions)	0.			
8 Excess distributions carryover from 2007 not applied on line 5 or line 7 (see instructions)	60,848.			
9 Excess distributions carryover to 2013.	105 100			
Subtract lines 7 and 8 from line 6a 10 Analysis of line 9	196,402.			
a Excess from 2008 86,500.				
b Excess from 2009 7, 226.				
c Excess from 2010 23, 998.	1			
d Excess from 2011 24, 310.				
e Excess from 2012 54, 368.	1			
244				Earm 000 DE (2012)

Form 990-PF (2012) DOROTHY COLLINS I		ictions and Part	VII-A question	95-4031664	1 Page 10 N/A
1 a If the foundation has received a ruling or dete is effective for 2012, enter the date of the	rmination letter that				N/A
b Check box to indicate whether the foundat	ion is a private ope	erating foundation d	escribed in section	4942(j)(3) or	4942(j)(5)
2 a Enter the lesser of the adjusted net	Tax year		Prior 3 years		
income from Part I or the minimum investment return from Part X for each year listed	(a) 2012	(b) 2011	(c) 2010	(d) 2009	(e) Total
b 85% of line 2a					
c Qualifying distributions from Part XII, line 4 for each year listed					
d Amounts included in line 2c not used directly for active conduct of exempt activities					
e Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c					
3 Complete 3a, b, or c for the alternative test relied upon					
a 'Assets' alternative test — enter					
(1) Value of all assets(2) Value of assets qualifying under section 4942(j)(3)(B)(i)					
b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed					
c 'Support' alternative test — enter					
(1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties).					
		 			
(2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(III)					
(3) Largest amount of support from an exempt organization					
(4) Gross investment income	(0)			L &F. 000	• .
Part XV Supplementary Information assets at any time during the			toundation nad	i \$5,000 or more	e IN
Information Regarding Foundation Mana- List any managers of the foundation who have close of any tax year (but only if they have NONE	gers: e contributed more to	han 2% of the total co	ontributions received section 507(d)(2))	by the foundation bef	ore the
b List any managers of the foundation who owr a partnership or other entity) of which the NONE	10% or more of the foundation has a 1	stock of a corporatio 0% or greater inter	n (or an equally larg	e portion of the owner	ship of
2 Information Regarding Contribution, Gra Check here X if the foundation only ma requests for funds If the foundation make complete items 2a, b, c, and d	akes contributions to es gifts, grants, etc	preselected charitabl (see instructions) to	e organizations and or individuals or orga	anizations under oth	
a The name, address, and telephone number o	r e-mail of the perso	n to whom application	ns should be address	sed	
b The form in which applications should be	submitted and info	rmation and materia	als they should inclu	ude	
c Any submission deadlines					
d Any restrictions or limitations on awards,	such as by geograp	ohical areas, charita	ble fields, kinds of	institutions, or other	factors
BAA	TE	EA0310L 12/23/12			Form 990-PF (2012)

Page 11

3 Grants and Contributions Paid During the You	ear or Approved for Fut	ure Paymen	t	
Recipient	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	substantial contributor	recipient	Contribution	
a Paid during the year	SUDSTANTIAL CONTRIBUTOR			
Total	· , ····	···	► 3a	
b Approved for future payment Total			► 3b	

Program service revenue Business code Amount Exclusion code Business code Amount Exclusion code Amount Stond code Amount Exclusion code Business code Amount Exclusion code Amount Exclusion code Business code Business code Amount Exclusion code Business code Business code Amount Exclusion code Amount Exclusion code Business code Business code Amount Exclusion code Amount Exclusion code Business code Business code Business code Amount Exclusion code Business code Busines	(e)	ction 512, 513, or 514	Excluded by	usiness income	Unrelated b	nter gross amounts unless otherwise indicated	
b c c d d e e e e e e e e e e e e e e e e	Related or exempt function income (See instructions.)	` '	Exclu- sion	` '	Business	Program service revenue	
d e f g Fees and contracts from government agencies 2 Membership dues and assessments 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue a LITIGATION SETTLEMENT b NON TAXABLE DISTRIBUTIONS 1 206.						a	
d e f g Fees and contracts from government agencies 2 Membership dues and assessments 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue a LITIGATION SETTLEMENT b NON TAXABLE DISTRIBUTIONS 1 206.						b	
Membership dues and assessments Interest on savings and temporary cash investments Dividends and interest from securities Net rental income or (loss) from real estate Debt-financed property Not debt-financed property Net rental income or (loss) from personal property Other investment income Gain or (loss) from sales of assets other than inventory Net income or (loss) from special events Coross profit or (loss) from sales of inventory LITIGATION SETTLEMENT NON TAXABLE DISTRIBUTIONS Cord definition of the property of the pro						c	
Membership dues and assessments Interest on savings and temporary cash investments Dividends and interest from securities Net rental income or (loss) from real estate Debt-financed property Not debt-financed property Net rental income or (loss) from personal property Other investment income Gain or (loss) from sales of assets other than inventory Net income or (loss) from special events Coross profit or (loss) from sales of inventory LITIGATION SETTLEMENT NON TAXABLE DISTRIBUTIONS Cord definition of the property of the pro						d	
Membership dues and assessments Interest on savings and temporary cash investments Dividends and interest from securities Net rental income or (loss) from real estate Debt-financed property Not debt-financed property Net rental income or (loss) from personal property Other investment income Gain or (loss) from sales of assets other than inventory Net income or (loss) from special events Coross profit or (loss) from sales of inventory LITIGATION SETTLEMENT NON TAXABLE DISTRIBUTIONS Cord definition of the property of the pro						e	
Membership dues and assessments Interest on savings and temporary cash investments Dividends and interest from securities Net rental income or (loss) from real estate Debt-financed property Not debt-financed property Net rental income or (loss) from personal property Other investment income Gain or (loss) from sales of assets other than inventory Net income or (loss) from special events Coross profit or (loss) from sales of inventory LITIGATION SETTLEMENT NON TAXABLE DISTRIBUTIONS Coross description of the property of the p						f	
3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events. 10 Gross profit or (loss) from sales of inventory 11 Other revenue 2 LITIGATION SETTLEMENT 4 DISTRIBUTIONS 5 1 206. 6 d 6 e						g Fees and contracts from government agencies	
4 Dividends and interest from securities 5 Net rental income or (loss) from real estate a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue 2 LITIGATION SETTLEMENT 4 DON TAXABLE DISTRIBUTIONS 5 DIVIDING SETTLEMENT 6 DON TAXABLE DISTRIBUTIONS 7 DOM TAXABLE DISTRIBUTIONS 8 DON TAXABLE DISTRIBUTIONS 9 DON TAXABLE DISTRIBUTIONS 9 DON TAXABLE DISTRIBUTIONS 1 206.						Membership dues and assessments	
5 Net rental income or (loss) from real estate a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events. 10 Gross profit or (loss) from sales of inventory 11 Other revenue 2 LITIGATION SETTLEMENT 3 b NON TAXABLE DISTRIBUTIONS 4 C 5 C 6 C 7 C						interest on savings and temporary cash investments	
a Debt-financed property b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events. 10 Gross profit or (loss) from sales of inventory 11 Other revenue 2 LITIGATION SETTLEMENT 3 D. NON TAXABLE DISTRIBUTIONS 4 C.		16,796.	14			Dividends and interest from securities	
b Not debt-financed property 6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events. 10 Gross profit or (loss) from sales of inventory 11 Other revenue a LITIGATION SETTLEMENT b NON TAXABLE DISTRIBUTIONS c d e						Net rental income or (loss) from real estate	
6 Net rental income or (loss) from personal property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events. 10 Gross profit or (loss) from sales of inventory 11 Other revenue a LITIGATION SETTLEMENT b NON TAXABLE DISTRIBUTIONS c d e						a Debt-financed property	
7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events. 10 Gross profit or (loss) from sales of inventory 11 Other revenue a LITIGATION SETTLEMENT b NON TAXABLE DISTRIBUTIONS c d e				<u></u>		b Not debt-financed property	
8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events. 10 Gross profit or (loss) from sales of inventory 11 Other revenue a LITIGATION SETTLEMENT b NON TAXABLE DISTRIBUTIONS 1 206. c d e				<u></u>		Net rental income or (loss) from personal property	
9 Net income or (loss) from special events. 10 Gross profit or (loss) from sales of inventory 11 Other revenue a LITIGATION SETTLEMENT b NON TAXABLE DISTRIBUTIONS c d e						Other investment income	
10 Gross profit or (loss) from sales of inventory 11 Other revenue a LITIGATION SETTLEMENT b NON TAXABLE DISTRIBUTIONS c d e	78,992					Gain or (loss) from sales of assets other than inventory	
11 Other revenue						Net income or (loss) from special events.	
a LITIGATION SETTLEMENT b NON TAXABLE DISTRIBUTIONS c d e						Gross profit or (loss) from sales of inventory	
b NON TAXABLE DISTRIBUTIONS c d e						Other revenue	
c d e		9.	1			a LITIGATION SETTLEMENT	
d e		206.	1			b NON TAXABLE DISTRIBUTIONS	
e						c	
e 17 O11						d	
12 Subtatal Add solumns (b) (d) and (a) 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1						e	
	78,992	17,011.	<u> </u>	<u> </u>		Subtotal Add columns (b), (d), and (e)	
13 Total. Add line 12, columns (b), (d), and (e) 13	96,003	13 _					
See worksheet in line 13 instructions to verify calculations)					ions)	e worksheet in line 13 instructions to verify calculat	

Line No. ▼	Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to the accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes) (See instructions)
N/A	
	

Form 990-PF (2012) DOROTHY COLLINS BROWN 95-4031664 Part XVII Information Regarding Transfers To and Transactions and Relationships With Noncharitable Exempt Organizations

					-		•	-				1	
de	escribed	rganization direct d in section 501 (o o political organiz	c) of the Code (c	engage ir other thar	n any of the n section 50	e following wi 01(c)(3) orgai	th any of nizations	her organizatio) or in section 5	n 527,			Yes	<u>No</u>
a Ti	ransfers	from the reporti	ng foundation to	a nonch	naritable ex	empt organiz	ation of						
(1) Cash	1								1	a (1)		X
(2) Othe	r assets								1	a (2)		X
b O	ther tra	nsactions											
(1) Sale:	s of assets to a n	oncharitable ex	empt org	anızatıon					1	b (1)		<u>X</u>
(2	Purc	hases of assets f	rom a noncharit	able exe	mpt organiz	zation				1	b (2)		X
(3) Rent	al of facilities, eq	uipment, or othe	er assets						_ 1	b (3)		<u>X</u>
(4	l) Reim	bursement arran	gements							1	b (4)		X
•	•	s or loan guarant								1	b (5)		<u>X</u>
•	•	ormance of service			-					1	b (6)		<u>X</u>
c S	haring	of facilities, equip	oment, mailing li	ısts, othe	r assets, or	r paid employ	ees			1	С		X
d If th	the and ne goods	swer to any of the s, other assets, or s saction or sharing	e above is 'Yes,' services given by	' complet the repor	te the follow rting foundate	ving schedule tion If the four	Columi	n (b) should alw eceived less than s. other assets.	vays show the fair market value or services in	e fair mark value in received	et valu	ue of	
(a) Line		(b) Amount involved			itable exempt			Description of tran			ng arran	gement	:s
N/A		(-,	(0)				\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \				9	Ş	
											-		
		··				·							
									<u>.</u>				
							<u> </u>						
d	escribe	indation directly or d in section 501(c complete the folio	c) of the Code (other tha	r related to, n section 5	one or more to 01(c)(3)) or in	ax-exemp n section	t organizations 527?		[Yes	X	No
		Name of organiz			(b) Type o	f organization	 l	(0	:) Description	of relation	nship		
N/A	(-/	, and a creation			(5) 1)		·		,,			-	
11/ 21				·		· · ·							
				1									
-													
	Under p	enalties of perjury, I de	clare that I have exar	mined this re	eturn, including	accompanying s	hedules an	d statements, and to	the best of my l	knowledge and	belief, if	t is true	,
٥.	correct,	and complete Declarat	for of preparer (othe	r than taxpa	yer) is based o	on all information	of which pro	eparer has any know	ledge	-	Any tha I	DC duan	
Sign	1//	1.11	Ale			-/1/20				t	May the I his returi	n with th	ne
Here	1	my				7/6/10		RUSTEE			reparer see ipstr	uctions	Delow 12
	' Signa	ture of officer or trustee			Da	<u> </u>		ttle	· , - · · · · · · · · · · · · · · · 	I I I I I I I I I I I I I I I I I I I		Yes	No
		Print/Type preparer's				nature		Date	Check	If PTII			
Paid		KIRBY N. H			KIRBY N			 	self-emplo		0257	479	
Prepa		Firm's name	SADD VELA				A, LLE) 	Firm's EIN	80-0519	<u> 9547</u>		
Use C	Only	Firm's address			VD STE				 	(010)			
		L	GLENDALE,	CA 91	1203-23	6I			Phone no	(818) 5			
BAA										Fo	rm 990	- PF (2	2012)

20	1	2

FEDERAL STATEMENTS

PAGE 1

DOROTHY COLLINS BROWN CHARITABLE FOUNDATION

95-4031664

STATEMENT 1			
FORM 990-PF, PART	١,	LINE	11
OTHER INCOME			

		REVE PER B	NUE	(B) NET INVESTMENT INCOME	ADJUSTED NET INCOME
LITIGATION SETTLEMENT NON TAXABLE DISTRIBUTIONS	TOTAL	\$	9. 206. 215.\$	0	.\$ 0.

STATEMENT 2 FORM 990-PF, PART I, LINE 16B ACCOUNTING FEES

		(A) EXPENSES PER BOOKS	(B) NET INVESTMENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
TAX PREPARATION	TOTAL	\$ 1,395. \$ 1,395.	\$ 0.	\$ 1,395. \$ 1,395.	\$ 0.

STATEMENT 3 FORM 990-PF, PART I, LINE 16C OTHER PROFESSIONAL FEES

		 (A) PENSES BOOKS	(B) NET INVESTMENT INCOME	AD NET	(C) JUSTED INCOME	(D) CHARITABLE PURPOSES
ACCOUNT FEE INVESTMENT FEES	TOTAL	150. 19,521. 19,671.	\$ 0.	\$ \$	150. 19,521. 19,671.	\$ 0.

STATEMENT 4 FORM 990-PF, PART I, LINE 18 TAXES

	(A) EXPENSES PER BOOKS	(B) NET INVESTMENT INCOME	(C) ADJUSTED <u>NET INCOME</u>	(D) CHARITABLE PURPOSES
CA REGISTRY OF CHARITABLE TRUSTS FOREIGN TAX PAID FRANCHISE TAX BOARD INTERNAL REVENUE SERVICE TOTAL	\$ 25. 149. 10. 861. \$ 1,045.	\$ 0	\$ 25. 149. 10. 861. \$ 1.045.	<u>s 0</u>
TOTAL	\$ 1,045.	\$ 0.	\$ 1,045.	\$

FEDERAL STATEMENTS

DOROTHY COLLINS BROWN CHARITABLE FOUNDATION

PAGE 2

95-4031664

10,000.

5,000.

2,000.

10,000.

3,000.

STATEMENT 5 FORM 990-PF, PART I, LINE 25 CONTRIBUTIONS, GIFTS, AND GRANTS

CASH GRANTS AND ALLOCATIONS

CLASS OF ACTIVITY:

DONEE'S NAME: DONEE'S ADDRESS:

RELATIONSHIP OF DONEE:

AMOUNT GIVEN:

ORGANIZATIONAL STATUS OF DONEE:

CLASS OF ACTIVITY: DONEE'S NAME:

DONEE'S ADDRESS:

RELATIONSHIP OF DONEE:

ORGANIZATIONAL STATUS OF DONEE:

AMOUNT GIVEN:

CLASS OF ACTIVITY:

DONEE'S NAME:

DONEE'S ADDRESS:

RELATIONSHIP OF DONEE:

ORGANIZATIONAL STATUS OF DONEE:

AMOUNT GIVEN:

CLASS OF ACTIVITY:

DONEE'S NAME:

DONEE'S ADDRESS:

RELATIONSHIP OF DONEE:

ORGANIZATIONAL STATUS OF DONEE:

AMOUNT GIVEN:

CLASS OF ACTIVITY: DONEE'S NAME:

DONEE'S ADDRESS:

RELATIONSHIP OF DONEE:

ORGANIZATIONAL STATUS OF DONEE: NON PROFIT

AMOUNT GIVEN:

CLASS OF ACTIVITY: DONEE'S NAME: DONEE'S ADDRESS:

RELATIONSHIP OF DONEE:

ORGANIZATIONAL STATUS OF DONEE:

AMOUNT GIVEN:

CLASS OF ACTIVITY:

DONEE'S NAME: DONEE'S ADDRESS:

RELATIONSHIP OF DONEE:

AMOUNT GIVEN:

DONATION

L.A. COUNTY MUSEUM OF ART 5905 WILSHIRE BLVD. LOS ANGELES, CA 90036

NONE

NON-PROFIT

DONATION

TACOMA ART MUSEUM 1123 PACIFIC AVENUE TACOMA, WA 98402,

NONE

NON-PROFIT

3,000.

DONATION

BLIND CHILDRENS CENTER

4120 MARATHON ST.

LOS ANGELES, CA 90029

NONE

NON PROFIT

DONATION

AMERICAN HEART ASSOCIATION 7272 GREENVILLE AVE.

DALLAS, TX 75231

NONE

NON PROFIT

DONATION

MCCALLUM THEATER

73000 FRED WARING DR PALM DESERT, CA 92260

NONE

DONATION

UNITED CEREBRAL PALSY 6430 INDEPENDENCE AVE WOODLAND HILLS, CA 91367

NONE

NON PROFIT

DONATION

TOWN HALL, LOS ANGELES 515 S. FLOWER ST, STE 1650

LOS ANGELES, CA 90071

NONE

ORGANIZATIONAL STATUS OF DONEE: NON PROFIT

11,000.

FEDERAL STATEMENTS

DOROTHY COLLINS BROWN CHARITABLE FOUNDATION

PAGE 3

95-4031664

STATEMENT 5 (CONTINUED) FORM 990-PF, PART I, LINE 25 **CONTRIBUTIONS, GIFTS, AND GRANTS**

CLASS OF ACTIVITY:

DONEE'S NAME:

DONEE'S ADDRESS:

RELATIONSHIP OF DONEE:

ORGANIZATIONAL STATUS OF DONEE:

AMOUNT GIVEN:

CLASS OF ACTIVITY:

DONEE'S NAME: DONEE'S ADDRESS:

RELATIONSHIP OF DONEE:

ORGANIZATIONAL STATUS OF DONEE:

AMOUNT GIVEN:

CLASS OF ACTIVITY: DONEE'S NAME:

DONEE'S ADDRESS:

RELATIONSHIP OF DONEE: ORGANIZATIONAL STATUS OF DONEE:

AMOUNT GIVEN:

CLASS OF ACTIVITY:

DONEE'S NAME: DONEE'S ADDRESS:

RELATIONSHIP OF DONEE:

ORGANIZATIONAL STATUS OF DONEE: AMOUNT GIVEN:

DONATION

GROWTOWN, INC.

33203 BIDDESTONE LN.

FARMINGON HILLS, MI 48334

NONE

NON PROFIT

DONATION

BOYS & GIRLS CLUB OF WATCOM COUNTY

635 8TH STREET BLAINE, WA 98230

NONE

NON PROFIT

1,000.

5,000.

DONATION

COMMUNITY FOUNDATION OF WESTERN MASSACHU

1500 MAIN ST.

SPRINGFIELD, MA 01115

NONE

NON PROFIT

5,000.

DONATION

NATIONAL CHARITY LEAGUE JUNIORS SAN MARI

420 SOUTH GREENWOOD AVENUE

PASADENA, CA 91107

NONE

NON PROFIT

1,500.

TOTAL \$ 56,500.

STATEMENT 6 FORM 990-PF, PART II, LINE 10B **INVESTMENTS - CORPORATE STOCKS**

FAIR MARKET VALUATION BOOK VALUE CORPORATE STOCKS METHOD VALUE 577,376. \$ 577,376. \$ 650,867. 650,867. COST SEE ATTACHED STATEMENTS TOTAL \$

Account Number: 230-74E44

December 01, 2012 - December 31, 2012

MERRILL LYNCH CONSULTS SERVICE

DOROTHY COLLINS BROWN CHAR FDN

YOUR INVESTMENT MANAGER - NEUBERGER BERMAN LARGE CAP/TV

We encourage you to contact your Financial Advisor whenever there are changes in your particular situation or objectives. These changes can then be discussed directly with your livestment Manager. Your Financial Advisor would be pleased to arrange such discussions.

YOUR TRUST MANAGEMENT ACCOUNT STATEMENT OF PRINCIPAL INVESTMENTS

EQUITIES Description	Symbol Acquired	Ouantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Estimated Current Gain/(Loss) Annual Income Yield%	Estimated Current nual Income Yield%	urrent Yield%
AETNA INC NEW	AET 07/09/12	250	38.1256	9,531.40	46.3100	11,577.50	2,046.10	200	1.72
AMERICAN INTERNATIONAL GROUP INC Subtotal	AIG 07/09/12 10/26/12	273 36 309	30.9142 34.7497	8,439.60 1,250.99 9,690.59	35,3000	9,636.90 1,270.80 10,907.70	1,197.30 19.81 1,217.11		
ANADARKO PETE CORP	APC 06/23/10 02/17/11	14 54 68	40 5935 78 4553	568.31 4,236.59 4.804.90	74.3100 74.3100	1,040 34 4,012.74 5,053.08	472.03 (223.85) 248.18	6 20 26	48 48 48
AT&T INC	1 09/20/11	40	29.1337	1,165 35	33.7100	1,348 40	183.05	72	5.33
Subtotal	09/22/11 03/20/12	87 16 143	27.7587 31.7687	2,415.01 508.30 4,088.66	33.7100 33.7100	2,932 / / 539.36 4,820.53	31.06 31.06 731.87	15/ 29 258	5.33 5.33
BAKER HUGHES INC	BHI 09/26/12	109	45.7279	4,984 35	40 8477	4,452.40	(531.95)	99	1.46



DOROTHY COLLINS BROWN CHAR FDN

Account Number: 230-74E44

YOUR TRUST MANAGEMENT ACCOUNT STATEMENT OF PRINCIPAL INVESTMENTS

BANK NEW YORK MELLON CORP Subtotal	Sympol Acquired	Quantity	Cost Basis	Cost Basis	Market Price	Market Value	Gain/(Loss) Annual Income Yield%	nual Income	ial Income Yield%
	BK 07/09/12	292	21 5300	6,286.76	25.7000	7,504.40	1,217 64	152	202
Subtotal	08/24/12	130	22 4396	2,917 16	25 7000	3,34100	423.84	89	202
Subtotal	09/26/12	66	22 5388	2,23135	25.7000	2.544 30	312 95	52	202
		521	ı	11,435.27		13,389.70	1,954.43	272	2.02
BHP BILLITON LTD ADR	BHP 07/31/12	105	66.5336	6,986.03	78.4200	8,234 10	1,24807	236	2.85
	08/29/12	25	67.8680	1,696.70	78 4200	1,960.50	263.80	56	2.85
	09/20/12	31	69 5583	2,15631	78 4200	2,431.02	274.71	70	2 85
Subtotal		161	,	10,839.04		12,625.62	1,786.58	362	2.85
BOEING COMPANY	BA 07/09/12	49	74.0306	3,627.50	75.3600	3,692 64	65 14	96	2.57
	08/01/12	39	73 7997	2,878 19	75.3600	2,939 04	60 85	92	2.57
Subtotal	;	86	ļ	6,505.69		6,631.68	125.99	172	2.57
CARNIVAL CORP PAIRED SHS	60/0E/90 TOO	52	25.7867	1,340.91	36.7700	1,912 04	571 13	52	271
	06/07/10	21	34 9047	733.00	36 7700	772 17	39 17	21	271
	07/09/12	256	33.2673	8,516.45	36 7700	9,413 12	896 67	256	2.71
Subtotal	i 	329	1	10,590.36		12,097.33	1,506.97	329	2.71
CATERPILLAR INC DEL	CAT 05/12/09	20	37.4540	749.08	89 6085	1,792.17	1,043.09	42	2.32
	60/0E/90	42	33 0440	1,387.85	89 6085	3,763.56	2,37571	88	2.32
	10/01/10	16	77.9881	1,247 81	89.6085	1,433 74	185.93	34	2.32
	07/09/12	20	83.0830	1,661.66	89.6085	1,792.17	13051	42	2.32
	07/31/12	32	84 7 459	2,711.87	89 6085	2,867 47	155 60	29	2.32
	10/26/12	47	83.8585	3,941.35	89.6085	4,21160	270.25	86	2.32
Subtotal	;	177	!	11,699.62	,	15,860.71	4,161.09	371	2.32
CHEVRON CORP	CVX 01/25/10	27	74.9711	2.024.22	108.1400	2,919.78	895.56	86	3.32
	02/06/10	43	79.5913	3,422 43	108 1400	4,650.02	1,227 59	155	3.32
	06/04/10	15	71.1066	1,066.60	108.1400	1,622.10	555.50	54	3 32
	10/13/10	12	83 8700	1,006.44	108 1400	1,297.68	291.24	44	332
	09/10/12	21	114.3509	2,401.37	108.1400	2,27094	(13043)	92	3.32

DOROTHY COLLINS BROWN CHAR FDN

Account Number: 230-74E44

YOUR TRUST MANAGEMENT ACCOUNT STATEMENT OF PRINCIPAL INVESTMENTS

December 01, 2012 - December 31, 2012

EQUITIES (continued)			Unit	Total	Estimated	Estimated	Unrealized	Estimated Current	Surrent
Description	Symbol Acquired	Quantity	Cost Basis	Cost Basis	Market Price	Market Value	Gain/(Loss) Annual Income Yield%	nnual Income	Yield%
CHEVRON CORP	CVX 10/22/12	17	111.7982	1,900.57	108.1400	1,838.38	(62 19)	62	3.32
	10/23/12	2	111.0900	222.18	108.1400	216.28	(2.90)	σ	3.32
	10/26/12	21	110.8614	2,328.09	108.1400	2,270.94	(57.15)	92	3.32
Subtotal		158	;	14,371.90		17,086.12	2,714.22	573	3.32
CISCO SYSTEMS INC COM	CSC0 11/14/11	73	19.0600	1,391 38	19.6494	1,434.41	43.03	41	2.85
	11/18/11	85	18.5765	1,579.01	19.6494	1,670.20	91.19	48	2.85
	11/28/11	50	18.0292	901.46	19.6494	982 47	81.01	28	2.85
	11/29/11	38	17.8707	619.09	19.6494	746.68	67.59	22	2.85
	12/07/11	33	18.8824	623.12	19.6494	648.43	25.31	19	2.85
	01/13/12	45	18.9900	854.55	19.6494	884.22	29.67	26	2.85
	01/31/12	44	19.6686	865.42	19.6494	864.57	(0.85)	25	2.85
	03/20/12	26	20.3750	529.75	19.6494	51088	(18.87)	15	2.85
	05/09/12	30	18.8276	564.83	19.6494	589 48	24.65	17	2.85
	06/27/12	33	16 7554	552.93	19.6494	648.43	95.50	19	2.85
	07/09/12	178	16.6207	2,958.50	19.6494	3,497.59	539.09	100	2.85
Subtotal		635	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	11,500.04	1	12,477.36	977.32	360	2.85
CITIGROUP INC COM NEW	C 01/26/10	39	31.7948	1,240.00	39.5600	1,542.84	302.84	2	.10
	02/19/10	35	34.3940	1,203.79	39.5600	1,384.60	180.81	2	10
	03/29/10	35	42.2028	1,477.10	39.5600	1,384.60	(92.50)	2	10
	03/31/10	48	40.3918	1,938.81	39.5600	1,898.88	(39 93)	2	10
	04/14/10	29	47.3093	1,371.97	39.5600	1,147.24	(224 73)	2	10
	05/10/10	30	42.2290	1,266.87	39 5600	1,186.80	(80 07)	2	.10
	09/23/10	55	38.5000	2,117.50	39.5600	2,175 80	58.30	B	10
	07/09/12	440	25.9545	11,420.02	39 5600	17,406.40	5,986.38	18	10
	10/01/12	52	32.9413	1,712.95	39 5600	2,057.12	344.17	m	10
Subtotal		763		23,749 01	l	30,184.28	6,435.27	36	.10
COMCAST CRP NEW CL A SPL	CMCSK 07/09/12	140	30.7699	4,307 79	35 9200	5,028.80	721.01	91	1.80
CONSOL ENERGY INC. COM	CNX 08/28/12	98	31 8666	2,740.53	32.1000	2,760.60	20.07	43	1.55
		1	:	1					



0637

DOROTHY COLLINS BROWN CHAR FDN

Account Number: 230-74E44

YOUR TRUST MANAGEMENT ACCOUNT STATEMENT OF PRINCIPAL INVESTMENTS

December 01, 2012 - December 31, 2012

EQUITIES (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Estimated Current Gain/(Loss) Annual Income Yield%	Estimated Current nual Income Yield%	Surrent Yield%
CSX CORP	CSX 07/24/12	289	21.5968	6,241.48	19 7300	5,701.97	(539.51)	162	2 83
	08/07/12	143	22.9639	3,283.85	19.7300	2,821 39	(462.46)	81	2.83
Subtotal	!	432		9,525.33		8,523.36	(1,001.97)	243	2.83
CUMMINS INC COM	CMI 07/09/12	69	95.3579	6,579 70	108.3500	7,47615	896 45	138	1.84
	10/10/12	28	87 7910	2,458 15	108 3500	3,033.80	575.65	56	1.84
Subtotal	:	26		9,037.85		10,509.95	1,472.10	194	184
DEERE CO	DE 08/28/12	89	73.7907	6,567.38	86.4200	7,691.38	1,12400	164	2.12
	10/15/12	38	82 5442	3,136 68	86 4200	3,283.96	147.28	70	2 12
Subtotal		127) 	9,704.06		10,975.34	1,271.28	234	212
DIAMOND OFFSHORE DRLNG	D0 07/09/12	105	59 3677	6.233 61	67 9600	7,135.80	902.19	53	73
	08/30/12	25	65 8996	1,647 49	0096 29	1,699 00	51.51	13	.73
	11/05/12	18	68 7972	1,238.35	0096'29	1,223 28	(15 07)	6	73
Subtotal	1 4 1 1	148		9,119.45	,	10,058.08	938.63	75	.73
DOVER CORP	DOV 07/11/12	124	511669	6,344 70	65.7100	8,148.04	1,803.34	174	2 13
EXXON MOBIL CORP COM	XOM 12/14/09	122	69 8836	8,525.81	86 5500	10,559.10	2,033 29	279	2 63
	04/29/10	36	68 5238	2,46686	86.5500	3,11580	648.94	83	2 63
	06/06/12	4	78.4025	31361	86.5500	346.20	32.59	10	2 63
	06/11/12	56	80 2851	4,495 97	86.5500	4,84680	350.83	128	2.63
	06/22/12	37	83.0535	3,072 98	86.5500	3,202.35	129 37	85	2 63
	06/25/12	40	80 1225	3,20490	86 5500	3,462.00	257 10	92	2.63
	07/05/12	13	85.4861	1,11132	86 5500	1,125 15	1383	30	2 63
	07/31/12	44	87.0554	3,830,44	86.5500	3,808 20	(22 24)	101	2.63
	08/10/12	43	87 7500	3,773 25	86 5500	3,72165	(5160)	66	2.63
Subtotal		395	,	30,795.14		34,187.25	3,392.11	206	2 63
FEDEX CORP DELAWARE COM	FDX 07/09/12	24	91.0833	2,186.00	91.7200	2,201 28	15.28	14	61
	08/01/12	23	88.9000	2.044 70	91.7200	2,109 56	64 86	13	61
Subtotal		47		4,230.70	,	4,310.84	80 14	27	.61

7 of 27

0637

DOROTHY COLLINS BROWN CHAR FDN

Account Number: 230-74E44

YOUR TRUST MANAGEMENT ACCOUNT STATEMENT OF PRINCIPAL INVESTMENTS

December 01, 2012 - December 31, 2012

EQUITIES (continued)	C. market	7	Unit	Total	Estimated Market Drose	Estimated Market Value	Unrealized Estimated Current Gain // Oss) Annual Income Vield%	Estimated Current	urrent Yield%
Description	Sympol Acquired	Quantity	COSt Dasis	COSC DASS	Walket Files	INGINCI VAIUC	dainy (Lossy Air	and modern	200
FORD MOTOR CO	F 09/30/09	44	7 2065	317.09	12 9500	269.80	252.71	6	1.54
	12/31/09	299	10 0046	2,991.38	12.9500	3,872.05	880.67	09	154
	06/29/12	149	9.6597	1,439 30	12.9500	1,929.55	490.25	30	1.54
	10/02/12	196	9.7842	1,917.72	12.9500	2,538.20	620.48	40	154
Subtotal		889		6,665.49		8,909.60	2,244.11	139	1.54
FRAC MARRIOTT INTL CL A	12/16/09	3,664	0.0002	86.0	0 0003	A/A	V/N		
GENERAL ELECTRIC	GE 02/07/07	55	36.2818	1,995.50	20 9900	1,154.45	(841.05)	42	3 62
	02/09/01	4	35.7900	143 16	20 9900	83 96	(59.20)	4	3.62
	09/04/01	85	38.8434	3,30169	20 9900	1,784 15	(1,51754)	65	3.62
	11/26/08	140	15.6779	2,194.91	20 9900	2,938.60	743.69	107	3 62
	03/23/11	210	19.5330	4,101.95	20 9900	4,407.90	305.95	160	3 62
	06/24/11	226	18.0761	4,085.20	20.9900	4,743.74	658.54	172	3.62
	11/29/11	38	15.0394	571.50	20.9900	797.62	226.12	29	3 62
	03/20/12	41	20.0821	823.37	20.9900	860.59	37.22	32	3.62
	05/08/12	61	19.1129	1,165.89	20.9900	1,280.39	114.50	47	3.62
	06/11/12	54	19.0951	1,031.14	20.9900	1,133.46	102.32	42	3.62
	07/10/12	122	19.9140	2,429.51	20 9900	2,560.78	131.27	93	3.62
	10/22/12	107	21 8630	2,339.35	20.9900	2,245.93	(93.42)	82	3.62
Subtotal	1	1,143	ı	24,183.17		23,991.57	(191.60)	875	3.62
GOLDMAN SACHS GROUP INC	GS 12/30/08	64	77.6760	4,971.27	127.5600	8,16384	3,192.57	128	1.56
	07/27/10	18	147.2716	2,650.89	127.5600	2,296.08	(35481)	36	1.56
	08/16/10	ß	148 3580	741.79	127 5600	637 80	(103.99)	10	1.56
	01/10	10	139 2180	1,392 18	127.5600	1,275 60	(116.58)	20	156
	09/22/10	7	149.9371	1,049 56	127.5600	892.92	(156.64)	14	1.56
	07/09/12	55	94 2616	5,184.39	127 5600	7,015.80	1,831.41	110	1.56
	08/31/12	26	106.1100	2,758.86	127 5600	3,31656	557.70	52	1.56
	09/28/12	34	113 7929	3,868.96	127 5600	4,337 04	468.08	89	1.56
Subtotal	ı	219		22,617.90	,	27,935.64	5,317.74	438	156





+



DOROTHY COLLINS BROWN CHAR FDN

Account Number: 230-74E44

YOUR TRUST MANAGEMENT ACCOUNT STATEMENT OF PRINCIPAL INVESTMENTS

December 01, 2012 - December 31, 2012

203 33.7685 6,855.01 34.6900 7 75 22.8536 1,7144.02 20.6200 1 52 23.3633 1,238.10 20.6200 1 25 23.2528 1,209.15 20.6200 1 25 26.6540 666.35 20.6200 1 242 26.0500 130.25 20.6200 1 296 21.8587 6,470.20 26.0900 7 89 24.4412 2,175.27 26.0900 7 36 24.8861 888.70 26.0900 7 421 60.9080 609.08 70.1000 3 36 24.864 4,780.51 70.1000 3 45 66.9734 3,080.78 70.1000 3 46 66.9734 4,780.51 70.1000 3 52 67.7532 3,523.17 70.1000 3 54 66.9734 4,780.51 70.1000 3 54 <	EQUITIES (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Estimated Current Gain/(Loss) Annual Income Yield%	Estimated Current nual Income Yield%	urrent Yield%
INTC 10/10/11 75 22 8536 1,714 02 20 6200 1,014/11 53 23 3603 1,238.10 20 6200 1,014/11 52 23 2528 1,209.15 20 6200 1,014/11 25 26 5726 808 72 20 6200 1,014/12 25 26 6540 866.35 20 6200 1,05/31/2 242 2,5725 808 72 20 6200 1,05/31/2 296 21.8587 6,470.20 26 0900 7 1,06/12 36 24.4412 2,175.27 26 0900 7 1,06/12 36 24.4412 2,175.27 26 0900 7 1,06/12 36 24.844 2,175.27 26 0900 7 1,06/12 36 24.844 2,175.27 26 0900 2 2,0428 36 24.844 3,087 8 70 1000 2 2,0428 3,0427 3,0408	HALLIBURTON COMPANY	HAL 12/13/12	203	33.7685	6,855.01	34 6900	7,042.07	187.06	74	1.03
10/14/11 53 23.3603 1.238.10 20.6200 1.339.12 20.3200 1.339.12 25.2728 1.299.15 20.6200 1.339.12 25.2725 808.12 20.6200 1.309.12 242 242 242 242 242 2.165.99 24.4412 2.175.27 26.9900 1.1/05/12 89 24.4412 2.175.27 26.9900 1.1/05/12 89 24.4412 2.175.27 26.9900 1.1/05/12 89 24.4412 2.175.27 26.9900 1.1/12/10 36 24.4412 2.175.27 26.9900 2.1/12/10 1.3 62.6861 888.70 26.9900 2.1/12/10 1.3 62.6861 888.70 26.9900 2.1/12/10 1.3 62.6861 882.78 70.1000 3.000.22/11 7.3 65.4864 4.780.51 70.1000 3.000.22/11 7.3 65.4864 4.780.51 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 3.000.22/11 1.3 61.8669 80.427 70.1000 80.300.02 80.000.22/11 1.3 61.8699 80.427 70.1000 80.300.02 80.000 80.200.02 80.000 80.000 80.000.02 80.000 80.	INTEL CORP	INTC 10/10/11	75	22 8536	1,71402	20 6200	1,54650	(16752)	99	4 36
10/17/11 52 23.2528 1,209.15 20 6200 01/30/12 55 26 6540 666.35 20 6200 01/30/12 5 26 6540 666.35 20 6200 01/30/12 5 26 0500 130.25 20 6200 07/09/12 5 26 0500 11/06/12 89 24.4412 2,175 26 0900 11/06/12 89 24.4412 2,175 26 0900 11/06/12 36 24 6861 8887 0 26 0900 11/106/12 36 24 6861 8887 0 26 0900 2 11/106/12 36 24 6861 8887 0 26 0900 11/12/10 13 63 6753 827 78 70 1000 04/28/11 73 65.4864 4,780.51 70.1000 3 09/22/11 13 61 8669 827 78 70 1000 09/22/11 13 61 8669 827 78 70 1000 3 09/22/11 13 61 8669 827 78 70 1000 3 09/22/11 13 61 8669 827 78 70 1000 3 09/22/11 13 61 8669 827 78 70 1000 3 09/22/11 14 53 7100 75.4424 63 76 00 12/04/12 61 55.8475 3,406.70 63.7800 3 12/04/12 61 55.8475 3,406.70 63.7800 3 12/04/12 61 55.8475 3,605.70 63.7800 03/12/08 166 39.9087 6,624.86 43.9691 7.000 03/12/08 50 37.6723 5,635.85 43.9691 3.000 03/12/08 50 37.6723 5,635.85 43.9691 3.000 03/12/08 50 37.6723 7.000 03/12/08 50 37.6723 7.000 03/12/08 70 37.6723 7.0000 03/12/08 70 37.6723 7.0000 03/12		10/14/11	53	23.3603	1,238.10	20.6200	1,09286	(14524)	48	4 36
01/30/12 25 26 6540 666.35 20 6200 05/23/12 32 25 275 808 72 20 6200 07/09/12 26 2725 808 72 20 6200 11/05/12 296 21.8587 6,470.20 26 0900 11/05/12 89 24.4412 2,175 27 26 0900 11/05/12 89 24.4412 2,175 27 26 0900 11/05/12 89 24.4412 2,175 27 26 0900 04/28/11 36 65 653 827 78 70 1000 04/28/11 73 65 4864 4,780.51 70 1000 07/09/12 52 67.7532 3,080 78 70 1000 07/09/12 52 67.7532 3,080 78 70 1000 07/09/12 52 67.7532 3,080 78 70 1000 07/09/12 52 67.7532 3,080 78 70 1000 08/30/14 6 66.9734 3,080 78 70 1000 07/09/12 52 67.7532 3,523 17 70 1000 08/30/14 61 55 8475 3,406.70 63.7800 12/04/12 61 55.8475 3,406.70 63.7800 12/04/12 60 43.0183 2,581 10 43.9691 2,000,000 06/20/08 50 37.5723 5,535 85 43.9691 2,000,000 06/20/08 50 37.6723 2,581 10 43.9691 2,000,000 06/20/08 50 37.6723 2,581 10 43.9691 3,000,000 06/20/08 50 37.6723 2,581 10 43.9691 3,000,000 06/20/08 50 37.6723 2,581 10 43.9691 3,000,000,000,000 3,000,000 3,000,000 3,000,000		10/17/11	52	23.2528	1,209.15	20 6200	1.072 24	(13691)	47	4 36
05/23/12 32 25 2725 808 72 20 6200 07/09/12 242 26 0500 130 25 20 6200 11/05/12 296 21.8587 6,470.20 26 0900 77 11/06/12 89 24.4412 2.175 27 26 0900 77 11/06/12 89 24.4412 2.175 27 26 0900 77 11/06/12 89 24.4412 2.175 27 26 0900 77 11/12/10 13 63 6753 888 70 26 0900 70 11/12/10 13 63 6753 827 78 70 1000 90/22/11 13 61 8669 804 27 70 1000 00/22/11 13 61 8669 804 27 70 1000 3.00/22/11 13 61 8669 804 27 70 1000 3.00/22/11 13 61 8669 804 27 70 1000 3.00/22/11 14 53 7100 75194 63 7800 9.00/22/12 151 53 5470 8085 60 63 7800 9.00/22/12 151 53 5470 8085 60 63 7800 12/04/12 61 55.8475 3,406.70 63 7800 12/04/12 61 55.8475 3,406.70 63 7800 12/04/12 60 39 9087 6,624.86 43 9691 7,000/22/10 80 90/22/08 166 39 9087 6,624.86 43 9691 7,000/22/10 80 90/22/08 50 37 6742 43 9691 3.000/22/08 50 37 6742 43 9691 3.000/22/09 90/22/08 50 37 6742 43 9691 3.000/22/09 90/22/08 50 37 6742 43 9691 3.000/22/09 90/22/08 50 37 6742 43 9691 3.000/22/09 90/22/08 90/22/		01/30/12	25	26 6540	666.35	20 6200	515.50	(150.85)	23	4.36
VCOM		05/23/12	32	25 27 25	808 72	20 6200	659 84	(148.88)	29	4.36
242 5,766.59 44 11/05/12 89 24.4412 2,175 27 26.0900 7,1705/12 89 24.4412 2,175 27 26.0900 7,1705/12 89 24.4412 2,175 27 26.0900 7,1705/12 89 24.4412 2,175 27 26.0900 7,1705/12 89 24.4412 2,175 27 26.0900 7,1705/12 88 70 26.0900 7,1705/12 13 63.6753 827 78 70.1000 04/28/11 73 65.4864 4,780.51 70.1000 3,1705/12 13 61.8669 804 27 70.1000 3,1705/12 13 61.8669 804 27 70.1000 3,1705/12 207 15.152 3,523 17 70.1000 3,1705/12 15 53.5470 8,085.60 63.7800 9,08/30/12 15 53.5470 8,085.60 63.7800 12/04/12 61 55.8475 3,406.70 63.7800 12/244.24 14 53.7100 75.244.24 14 53.7100 75.246.24 63.7800 12/244.24 14 53.7100 75.24.24 14 53.091 12/244.24 143.9691 17.000/10.000/10.000/10.000/10.000/10.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000 12.000/10.000/10.000 12.0000 12.00		07/09/12	S	26 0500	130 25	20 6200	103.10	(27 15)	S	4 36
	Subtotal	1	242	i	5,766.59		4,990.04	(776.55)	220	436
11/06/12 89 24.4412 2,175 27 26.0900 2 11/06/12 36 24 6861 888 70 26 0900 2 11/06/12 36 24 6861 888 70 26 0900 2 11/12/10 13 63 6753 827 78 70 1000 3 04/28/11 73 65.4864 4,780.51 70 1000 3 09/22/11 13 61 8669 804 27 70 1000 3 07/09/12 52 67.7532 3,523 17 70 1000 3 08/30/12 151 53 5470 8,085.60 63 7800 9 08/30/12 151 53 5470 8,085.60 63 7800 3 12/04/12 61 55.8475 3,406.70 63 7800 3 12/04/12 61 55.8475 3,406.70 63 7800 3 12/04/12 61 55.8475 3,695.60 63 7800 3 12/04/12 61 55.8475 3,695.60 63 7800	INVESCO LTD	IVZ 07/09/12	296	21.8587	6,470.20	26 0900	7,722 64	1,252.44	205	2 64
11/06/12 36 24 6861 888 70 26 0900 1		11/05/12	86	24.4412	2,175 27	26.0900	2,322.01	14674	62	264
421 9,534 17 11,12/10 13 63 6753 827 78 70 1000 11/12/10 13 65.4864 4,780 51 70 1000 60,9080 60,908 70 1000 60,04/28/11 73 65.4864 4,780 51 70 1000 3. 66,01/11 13 618669 804 27 70 1000 3. 67/09/12 52 67.7532 3,625.59 13,625.59 12/04/12 61 55.8475 12,244.24 12/04/12 60 43.0183 5,635 85 12,244.24 150 37.5723 165 39.9087 166 39.9087 17,009		11/06/12	36	24 6861	888 70	26 0900	939.24	50 54	25	264
V COM JNJ 09/22/09 10 60.9080 609.08 70.1000 11/12/10 13 63.6753 827.78 70.1000 5. 04/28/11 73 65.4864 4,780.51 70.1000 3. 06/01/11 46 66.9734 3,080.78 70.1000 3. 09/22/11 13 61.8669 804.27 70.1000 3. 07/09/12 52 67.7532 3,523.17 70.1000 3. 08/30/12 151 53.5470 8,085.60 63.7800 9 08/30/12 14 53.7100 751.94 63.7800 3. 12/04/12 61 55.8475 3,406.70 63.7800 3. 12/04/12 61 55.8475 3,406.70 63.7800 3. 150 37.5723 5,635.85 43.9691 7. 166 39.9087 6,624.86 43.9691 2. 166 37.5723 5,635.85 43.9691 3. 166 <td>Subtotal</td> <td>:</td> <td>421</td> <td>1</td> <td>9,534 17</td> <td></td> <td>10,983.89</td> <td>1,449.72</td> <td>292</td> <td>2.64</td>	Subtotal	:	421	1	9,534 17		10,983.89	1,449.72	292	2.64
11/12/10 13 63 6753 827 78 70 1000 04/28/11 73 65 4864 4,780.51 70.1000 06/01/11 46 66.9734 3,080 78 70 1000 09/22/11 13 61 8669 804 27 70 1000 07/09/12 52 67.7532 3,523 17 70.1000 08/30/12 151 53 5470 8,085.60 63 7800 08/30/12 14 53 7100 751.94 63 7800 12/04/12 61 55.8475 3,406.70 63.7800 12/04/12 60 43.0183 2,581 10 43.9691 2,006/20/08 50 37.6742 1,883 71 43.9691 2,006/20/08 50 37.6742 1,883 71 43.9691 3.006/20/08 50 37.6742 2,2875.77 43.9691 3.006/20/08 50 37.6752 2,875.27 57.27	JOHNSON AND JOHNSON COM	JNJ 09/22/09	10	0806.09	80.609	70.1000	701.00	91.92	25	3.48
04/28/11 73 65.4864 4,780.51 70.1000 06/01/11 46 66.9734 3,080 78 70.1000 09/22/11 13 61.8669 804 27 70.1000 07/09/12 52 67.7532 3,523 17 70.1000 08/30/12 151 53.5470 8,085.60 63.7800 12/04/12 61 55.8475 3,406.70 63.7800 12/04/12 60 43.0183 2,581 10 43.9691 06/11/08 150 37.5723 5,635 85 43.9691 06/20/08 50 37.6742 1,883 71 43.9691		11/12/10	13	63 6753	827 78	70 1000	91130	83 52	32	3 48
06/01/11 46 66.9734 3.080 78 70 1000 09/22/11 13 61 8669 804 27 70.1000 07/09/12 52 67.7532 3.523 17 70.1000 207 207 13,625.59 14,537100 751.94 63 7800 12/04/12 61 55.8475 3,406.70 63.7800 226 12/04/12 60 43.0183 2,581 10 43.9691 06/20/08 50 37.6723 5,635 85 43.9691 06/20/08 50 37.6723 2,875.27 43.9691		04/28/11	73	65.4864	4,780.51	70.1000	5.117 30	336 79	179	3 48
09/22/11 13 618669 804 27 70.1000 07/09/12 52 67.7532 3,523.17 70.1000 207 207 207 207 151 53 5470 8,085.60 63.7800 08/30/12 151 53.7100 751.94 63.7800 12/04/12 61 55.8475 3,406.70 63.7800 226 12244.24 JPM 12/31/07 60 43.0183 2,581.10 43.9691 03/03/08 150 37.5723 5,635.85 43.9691 06/20/08 50 37.6742 1,883.71 43.9691 06/20/08 70 41.0752 2,875.27 43.9691		06/01/11	46	66.9734	3,080 78	70 1000	3,224.60	143.82	113	3 48
07/09/12 52 67.7532 3.523.17 70.1000 207 207 151 53.5470 8.085.60 63.7800 08/30/12 14 53.7100 751.94 63.7800 12/04/12 61 55.8475 3,406.70 63.7800 226 12244.24 JPM 12/31/07 60 43.0183 2,581.10 43.9691 06/11/08 150 37.5723 5,635.85 43.9691 06/20/08 50 37.6742 2,865.27 43.9691		09/22/11	13	618669	804 27	70.1000	91130	107.03	32	3.48
207 207 13,625.59 208 208 12/04/12 151 53.5470 8.085.60 63.7800 12/04/12 61 55.8475 3,406.70 63.7800 226 12,244.24 JPM 12/31/07 60 43.0183 2,581.10 43.9691 06/11/08 150 37.5723 5,635.85 43.9691 06/20/08 70 41.0752 2,875.27 43.9691		07/09/12	52	67.7532	3,523 17	70.1000	3,645,20	122.03	127	3.48
DM JOY 07/09/12 151 53 5470 8,085.60 63 7800 08/30/12 14 53 7100 751.94 63 7800 12/04/12 61 55.8475 3,406.70 63.7800 12/04/12 226 12,244.24 JPM 12/31/07 60 43.0183 2,581.10 43.9691 03/03/08 166 39.9087 6,624.86 43.9691 06/11/08 150 37.6742 1,883.71 43.9691 09/12/08 70 41.0752 2,875.27 43.9691 10,04,12/08 70 41.0752 2,875.27 43.9691	Subtotal		207	1	13,625.59		14,510.70	885.11	208	3.48
08/30/12 14 53 7100 751.94 63 7800 12/04/12 61 55.8475 3,406.70 63.7800 63.7800	JOY GLOBAL INC DEL COM	JOY 07/09/12	151	53 5470	8,085.60	63 7800	9,630.78	1,545 18	106	109
12/04/12 61 55.8475 3,406.70 63.7800 226 12,244.24 JPM 12/31/07 60 43.0183 2,581.10 43.9691 03/03/08 150 37.5723 5,635.85 43.9691 06/20/08 50 37.6742 1,883.71 43.9691 09/12/08 70 41.0752 2,875.27 43.9691		08/30/12	14	53 7 100	751.94	63 7800	892.92	140.98	10	1 09
226 JPM 12/31/07 60 43.0183		12/04/12	61	55.8475	3,406.70	63.7800	3,890 58	483.88	43	1.09
JPM 12/31/07 60 43.0183 2,581.10 43.9691 03/03/08 166 39.9087 6,624.86 43.9691 06/11/08 150 37.5723 5,635.85 43.9691 06/20/08 50 37.6742 1,883.71 43.9691 09/12/08 70 41.0752 2,875.27 43.9691	Subtotal	;	226	:	12,244.24	,	14,414.28	2,170.04	159	1.09
166 39.9087 6,624.86 43.9691 150 37.5723 5,635.85 43.9691 50 37.6742 1,883.71 43.9691 70 41.0752 2,875.27 43.9691 60 37.6567 4.056.64	JPMORGAN CHASE & CO	JPM 12/31/07	9	43.0183	2,581 10	43.9691	2,638 15	57.05	72	2.72
150 37.5723 5,635.85 43.9691 50 37.6742 1,883.71 43.9691 70 41.0752 2,875.27 43.9691		80/60/60	166	39.9087	6,624.86	43 9691	7,298.87	674.01	200	2.72
50 37.6742 1,883.71 43.9691 70 41.0752 2,875.27 43.9691		06/11/08	150	37.5723	5,635 85	43.9691	6,595.37	959 52	180	272
70 41.0752 2,875.27 43.9691		06/20/08	20	37.6742	1,88371	43.9691	2,198 46	314.75	09	2.72
62 20 E0E7 4 0E0 0E 42 0E04		09/12/08	70	41.0752	2,875.27	43 9691	3.077 84	202 57	84	272
1,838.80 43,969.1 1,838.80 43,969.1		12/01/08	63	29 5057	1,858.86	43 9691	2,770 05	911 19	9/	272

+

DOROTHY COLLINS BROWN CHAR FDN

Account Number: 230-74E44

YOUR TRUST MANAGEMENT ACCOUNT STATEMENT OF PRINCIPAL INVESTMENTS

December 01, 2012 - December 31, 2012

EQUINES (continued)		,	Unit	Total	Estimated	Estimated	Unrealized	Estimated Current	urrent
Description	Symbol Acquired	Quantity	Cost Basis	Cost Basis	Market Price	Market Value	Gain/(Loss)Ar	Gain/(Loss) Annual Income Tield%	leid%
JPMORGAN CHASE & CO	JPM 09/22/10	45	39.9102	1,795.96	43.9691	1,978.61	182.65	54	272
	07/09/12	49	33.7642	1,654.45	43.9691	2,154.49	500.04	29	2.72
	10/08/12	38	41.4847	1,576.42	43.9691	1,670.83	94.41	46	2.72
	11/07/12	102	40.8696	4,168.70	43.9691	4,484.85	316.15	123	2.72
Subtotal		793	i	30,655.18	ı	34,867.52	4,212.34	954	2.72
LINCOLN NTL CORP IND NPV	LNC 07/09/12	311	20.5887	6,403 09	25.9000	8,054.90	1,651.81	150	1.85
	07/31/12	105	20.1059	2,111.12	25.9000	2.719.50	608.38	51	185
Subtotal		416		8,51421	!	10,774.40	2,260.19	201	1.85
LYONDELL BASELL INDUSTRIE	LYB 07/10/12	197	41.2998	8,136.08	57 0900	11,246.73	3,110.65	316	2.80
	10/03/12	26	52.4476	1,363 64	57.0900	1,484.34	120.70	42	280
Subtotal	•	223	1	9,499.72		12,731.07	3,231.35	358	2.80
MCDERMOTT INTL INC	MDR 08/28/12	289	11.3820	3,289.40	11.0200	3,18478	(104.62)		
	10/23/12	223	10 6892	2,383.71	11.0200	2,457.46	73.75		
Subtotal		512	:	5,673.11	1	5,642.24	(30.87)		
MERCK AND CO INC SHS	MRK 05/03/11	65	36.5846	2,378 00	40.9400	2,661.10	283.10	112	4 20
	05/18/11	36	37.5177	1,350.64	40.9400	1,473.84	123.20	62	4.20
	06/01/12	21	37.1876	780.94	40.9400	859.74	78.80	37	4.20
Subtotal		122	:	4,509.58	;	4,994.68	485.10	211	4.20
MICROSOFT CORP	MSFT 05/19/11	51	24.7098	1,260 20	26.7097	1,362.19	101.99	47	3.44
	05/24/11	78	24.1476	1,883 52	26 7097	2,083.36	199.84	72	3.44
	07/09/12	245	29.9108	7,328 17	26 7097	6,543 88	(784.29)	226	3 44
Subtotal		374		10,471.89	;	9,989.43	(482.46)	345	3.44
MONSANTO CO NEW DEL COM	MON 07/09/12	132	82.7263	10,919.88	94 6500	12,493.80	1,573.92	198	1.58
MOODY'S CORP	MC0 07 /09/12	66	36 6986	3,412.97	50.3200	4,679.76	1,266.79	75	1.58



0637

Bank of America Corporation

December 01, 2012 - December 31, 2012

Merrill Lynch:

DOROTHY COLLINS BROWN CHAR FDN

Account Number: 230-74E44

YOUR TRUST MANAGEMENT ACCOUNT STATEMENT OF PRINCIPAL

INVESTMENTS

EOUITIES (continued)			Unit	Total	Estimated	Estimated	Unrealized	Estimated Curren	urrent
Description	Symbol Acquired	Quantity	Cost Basis	Cost Basis	Market Price	Market Value	Gain/(Loss) Annual Income Yield%	nual Income	rield%
MORGAN STANLEY	MS 04/23/09	89	21 5664	1,919.41	19 1200	1,701.68	(217 73)	18	1.04
	02/01/09	17	27 8782	47393	19.1200	325 04	(148.89)	4	104
	02/08/09	140	25 9294	3,630 12	19.1200	2,676.80	(953.32)	28	1.04
	07/09/12	146	13.8752	2,025 79	19 1200	2,791.52	765 73	30	104
Subtotal	-	392		8,049 25		7,495.04	(554 21)	80	104
NEWMONT MINING CORP	NEM 07/09/12	224	47.8591	10,720.46	46 4400	10,402.56	(317 90)	314	301
	12/13/12	48	44 6747	2.144 39	46 4400	2,229.12	84.73	98	3.01
Subtotal	· :	272	,	12,864.85		12,631.68	(233.17)	382	301
NUCOR CORPORATION	NUE 11/13/12	169	40 2476	6,801.86	43 1600	7,294.04	492 18	249	3 40
OCCIDENTAL PETE CORP CAL	OXY 02/06/12	7	103.6300	725.41	76.6100	536.27	$(189\ 14)$	16	2.81
	02/06/12	10	100 6770	1,006.77	76 6100	766 10	(240.67)	22	281
	02/08/12	17	103.6817	1,762 59	76.6100	1.302 37	(460.22)	37	2.81
	02/09/12	16	104 3206	1,669.13	76.6100	1.225 76	(443.37)	32	281
	06/21/12	7	82.0257	574.18	76 6100	536 27	(37.91)	16	2.81
	06/28/12	S	80.3660	401.83	766100	383.05	(18.78)	11	281
Subtotal		62	 	6,139.91	1	4,749.82	(1,390.09)	137	281
ORACLE CORP \$0.01 DEL	ORCL 10/11/12	223	30.6921	6,844.34	33.3200	7,430.36	586 02	54	72
PFIZER INC	PFE 11/16/10	112	16.5877	1,857 83	25.0793	2,808 88	951.05	108	3.82
	01/05/11	390	18 17 46	7,088 13	25.0793	9,780 93	2,692.80	375	3.82
	09/22/11	18	17 3883	312 99	25.0793	451.43	138 44	18	382
Subtotal		520		9,258.95		13,041.24	3,782.29	201	3.82
PPL CORPORATION	PPL 11/05/12	236	28.8988	6,820,12	28 6300	6,756.68	(63.44)	340	5 02
RANGE RESOURCES CORP DEL	RRC 07/09/12	105	61.5562	6,463.41	62.8300	6,597.15	133 74	17	25
	07/10/12	188	61 2765	11,520 00	62.8300	11.81204	292 04	31	.25
	08/30/12	32	64.7331	2,071.46	62.8300	2,010 56	(06.09)	9	.25
Subtotal		325		20,054.87		20,419.75	364 88	54	25

DOROTHY COLLINS BROWN CHAR FDN

Account Number: 230-74E44

YOUR TRUST MANAGEMENT ACCOUNT STATEMENT OF PRINCIPAL INVESTMENTS

FOUITIES (continued)			Unit	Total	Estimated	Estimated	Unrealized	Estimated Current	Surrent
Description	Symbol Acquired	Quantity	Cost Basis	Cost Basis	Market Price	Market Value	Gain/(Loss) Annual Income Yield%	nual Income	Yield%
REGIONS FINI CORP	RF 09/30/09	20	62146	310 73	7 1300	356.50	45.77	2	.56
	10/14/09	75	6 0350	452.63	7.1300	534 75	82.12	ო	.56
	01/27/10	250	6.1682	1,542.05	7 1300	1,782.50	240.45	10	26
	04/14/10	172	8.7106	1,498.24	7.1300	1,22636	(271.88)	7	56
	07/09/12	336	6.5477	2,200.03	7.1300	2,395 68	195.65	14	.56
Subtotal		883		6,003.68		6,295.79	292.11	36	56
REINSURNCE GROUP AMERICA	RGA 07/09/12	09	54 9955	3,299 73	53 5200	3,211.20	(88.53)	28	1.79
	07/10/12	70	55.3060	3,871.42	53 5200	3,746.40	(125.02)	89	1.79
Subtotal		130	1	7,171.15	,	6,957.60	(213.55)	126	1.79
SANDISK CORP INC	SNDK 07/09/12	129	36.1597	4,664.61	43.5000	5,611.50	946.89		
SCHI UMBERGER LTD	SLB 12/21/06	17	63.7176	1,083.20	69.2986	1,178.08	94.88	19	1.58
	11/25/08	20	44.9445	898.89	69.2986	1,385.97	487.08	22	158
	12/01/08	13	44.5846	579.60	69.2986	900.88	321.28	15	1.58
	05/15/09	27	52.2185	1,409.90	69.2986	1,871.06	461.16	30	1.58
	06/22/09	41	52.5724	2,155.47	69.2986	2,841.24	685.77	46	1.58
	01/25/10	12	990099	792.08	69.2986	831.58	39.50	14	1.58
	10/24/12	22	70.7914	4,035.11	69.2986	3,950.02	(82.09)	63	1.58
	12/14/12	49	68.7748	3,369.97	69.2986	3,395.63	25.66	54	1.58
	12/26/12	13	69.1000	898 30	69.2986	900.88	2.58	15	1.58
Subtotal		249	,	15,222.52	ı	17,255.34	2,032.82	278	1.58
SCHWAB CHARLES CORP NEW	SCHW 07/09/12	386	12 4889	4.820.72	14 3600	5,542.96	722.24	93	1.67
	08/10/12	135	12.8957	1,74093	14.3600	1,938.60	197.67	33	1.67
Subtotal		521		6.561.65		7,481.56	919.91	126	1.67





Account Number: 230-74E44

DOROTHY COLLINS BROWN CHAR FDN

YOUR TRUST MANAGEMENT ACCOUNT STATEMENT OF PRINCIPAL INVESTMENTS

EQUITIES (continued)	Symbol Acquired	Ouantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Gain/(Loss) Ai	Unrealized Estimated Current Gain/(Loss) Annual Income Yield%	urrent Yield%
TARGET CORP COM	TGT 12/24/08	49	32 6048	1 597 64	59 1700	2.899.33	1.301.69	71	243
	03/16/09	<u>,</u> 6	29 0055	261 05	59.1700	532 53	271.48	13	2 43
	06/06/12	7	57 5757	403 03	59.1700	41419	11 16	11	2 43
	06/07/12	12	57 7591	693.11	59.1700	71004	1693	18	2 43
	07/09/12	42	58.0369	2,437.55	59.1700	2,485.14	47 59	61	2.43
Subtotal		119		5,392.38		7,041.23	1,648.85	174	2.43
URBAN OUTFITTERS INC	URBN 08/08/12	52	30.8994	1,606.77	39.3600	2.04672	439.95		
	08/09/12	113	30.8917	3,490 77	39.3600	4,447.68	956.91		
	10/09/12	29	36.8801	2,360 33	39.3600	2,519 04	158.71		
Subtotal		229	1	7,457.87		9,013.44	1,555.57		
US BANCORP (NEW)	USB 07/09/12	143	31.9236	4,565 08	31.9400	4,567.42	2 34	112	2.44
WELLS FARGO & CO NEW DEL	WFC 06/27/08	255	24.1228	6,15132	34.1800	8,715.90	2,564 58	225	257
	11/07/08	277	27.5284	7,625.37	34.1800	9,467.86	1.842.49	244	2.57
	12/31/09	179	27.1121	4,853.07	34 1800	6,118.22	1,265 15	158	2.57
	10/12/12	34	33.7829	1.148 62	34.1800	1,162.12	13.50	30	2.57
	10/15/12	32	33.6728	1.077.53	34.1800	1,093.76	16.23	29	2.57
Subtotal	I	111	:	20,855.91	!	26,557.86	5,701.95	989	2.57
YAHOO INC	YHOO 12/18/12	31	19 6200	608 22	19.9000	61690	8.68		
	12/19/12	233	19 6142	4,570 11	19.9000	4,636.70	69 99		
Subtotal	;	264		5,178 33		5,253.60	75.27		
ZIMMER HOLDINGS INC COM	ZMH 07/09/12	102	63 7941	6,507 00	0099'99	6,799.32	292 32	74	108

YOUR TRUST MANAGEMENT ACCOUNT STATEMENT OF PRINCIPAL INVESTMENTS

FOULTIES (continued)			Unit	Total	Estimated	Estimated	Unrealized	Estimated Current	urrent
Description	Symbol Acquired	Quantity	Cost Basis	Cost Basis	Market Price	Market Value	Gain/(Loss) Annual Income Yield%	nual Income	reld%
ZIONS BANCORP COM	60/60/60 NOIZ	55	16.0860	884.73	21.4000	1,177.00	292.27	3	.18
	09/52/09	20	17.6952	884 76	21.4000	1,070.00	185.24	7	.18
	60/08/60	19	17.8621	339.38	21.4000	406 60	67.22	H	18
	10/14/09	16	18.1343	290.15	21.4000	342.40	52.25	(- 1	.18
	11/11/09	40	13 1992	527 97	21.4000	856.00	328.03	7	.18
	11/12/09	, 0 0	13.1925	105 54	21.4000	171 20	99.59	н	.18
	07/08/12	167	19.0607	3,183.15	21 4000	3,573 80	390.65	7	.18
Subtotal		355		6,215.68		7,597.00	1,381.32	17	.18
TOTAL				577,376.07		650,867.23	73,491.16	13,486	2.07